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Simple Interest

When investing (saving) money, simple interest is a quick way to calculate interest.
Simple interest is calculate using the formula / = Pri .

Where I is the interest earned (in $), P is the principle (amount invested in §), r ial (yearly) interest rate, and

t is the time (in years).

Example

Sheldon puts $3000 into a Guaranteed Investment Certificate (G.1.C). savings that collectsimple interest.

a) How much interest does he earn in 4 years?

1= 3000(0.0%5>Lf'
1 = sYo

b) What is the total value of the G.I.C. in 4 years?

$1006 1+ $Syo = $3T9o
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You might ask yourself, what happens to Sheldon’s interest each year? This question leads to compound interest.....
Compound Interest “interest on interest”

Refer to the example with Sheldon above. Suppose at the end of each year the interest Sheldon has earned is
added to the G.1.C,, so that for the next year, Sheldon collects even more interest. In this scenario Sheldon is
earning compound interest. (compounded annually). Complete the table below to find the final value of

Sheldon’s investment.

Principle at
Year Beginning of Interest Earned Principle at End of Year
Year

o000 X095 =$3¢ $l}§ + fyo00
= 33\38

23S X.04S 43(}5‘4—4“/‘//08’
. {213¢ — 51 09 ~ £227.0¢
327£.08 X -095| £327(. 0k + $l470oh
- Eymiel $147- %1 $242340
’3&/23 TO X.0YS f3773 Sot §/sY.04

[ -
+ §342350

= ¥icq.06 |- $305,¢¢
Is there a shorter way to solve this problem? (Hint: thlnk about last unit).

2000 (| o%§>
= $3577.66

1 $3000

Suppose that Sheldon's interest was compounded semi-annually. (Twice a year). What would the final value of
the G.I.C. be? —
300()(/ + 2L O‘“ 4 03
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Suppose that Sheldon's interest was compounded every month. What would the final value of the G.I1.C. be?
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Compound Interest is an example of exponential growth. Simple Interest is an example of linear growth.
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Compound Interest Formula

A=P(1+i)"
Common Compounding Periods
Where A is the final amount of the savings. -annually
P is the principle or starting amount. -semi-annually
i is the interest rate per compounding period -quarterly - 1'1 "-l./\( ) Y‘L‘qf,
n is the number of compounding periods :g‘ll?ln’[hly
aily
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Examples

1) Find the final value of a 56000 investment compounded quarterly for 5 years at 4%/a.
—/

A=PClt) n=5xY

04 \'® n=212

= bovo (1 + 24

A= booo ([o)®
= 73217

2) Find the value of a 53000 investment compounded monthly for 2 years at 3.4% per annum.

A= P+ )"
Q< 2000 |t 0"/>

A - $742(0.74

3) Find the final value of a 510,000 G.I.C. from CIBC compounded daily for 3 years. How much interest was

earned?
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Text page 352 #1, 3, 4, 6 and page 360 #7, 11
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